Doubling x4 to find x8
Complete the x4 table, then double the relevant answers to help you work out how many legs the creatures have between them. You must work it out by doubling first, then you can check by counting!

	1 x 4 = 
	

	2 x 4 = 
	

	3 x 4 = 
	

	4 x 4 = 
	

	5 x 4 = 
	

	6 x 4 = 
	

	7 x 4 = 
	

	8 x 4 = 
	

	9 x 4 = 
	

	10 x 4 = 
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Extension: answer these in your maths book.

1. 3 x 8

2. 7 x 8 

3. 8 x 8

4. 5 x 8

5. 16 ( 8

6. 64 ( 8

7. 32 ( 8

8. 24 ( 8

How many legs do these spiders have altogether?
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Answer, including the x calculation that you did:





How many legs do these spiders have altogether?
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Answer, including the x calculation that you did:





How many legs do these octopuses have altogether?


���


Answer, including the calculation that you did:





How many legs do these octopuses have altogether?
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Answer, including the calculation that you did:
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